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SETA 

HSE (II) 

HIGHER SECONDARY EDUCATION 

HALF YEARLY EXAMINATION 2017 

PART Ill 

ECONOMICS 
Maximum : 80 Scores 

General Instructions to candidates: 

Time: 2½ hrs 

Cool off time : 15 Minutes 

o There is a 'Cool off time' of 15 minute in addition to the writing time of2 ½ hours. 

o Use the 'cool off time' to get familiar with questions and to plan your answers. 

o Read the questions carefully before answering 

o Calculations, figures and graphs should be shown in the answer sheet itself 

o Malayalam version of the questions is also provided. 

o Give equations wherever necessary 

o Electronic devices except nonprogrammable calculators are not allowed in the Examination Hall. 

6lru :J ®~ ml@G(l(l().mC/3 

• ml@<ll<illS (rul2JCOJ(()T[j)1CD ru60@12l 15 12llml§ '<fbJuil 630n0 @@so' ~6TlsOCOJl0lc0060. 

• ~(()T[j)(1)6ffi3uil n(j)'9JITT)pnITT)lCD 0;i,cru Gi.!l...lOBJ,6GBuil l(R>fillOnJJffiqjo OJOCOJlc006TDo. 

• <fb6TDcOO <fhJ3e..l1,<fhuil, .!l...llLITT)6GBuil, L(l)On..01,<fhuil, n(j)cmlru ~((jT[j)(1)(linJ\½:JOlm3((jT[j)@(Tl) ~6TlsOCOJ10lc006TDo. 

• <li.!l...lOBJ,6GBuil 12le.JCOJQ~(()T[j)le.J6o mm3<fh1COJ1366IB. 
• ffiWJ ru cm .1,06~ CTUO e..i mm'i' (ru l2l ruoc0, Ji 6GT3uil @<fhO s ;i c006TDo 

• GilnJOL(l)Ol2l1,<fhuil @.!l...l<RJOffiO<fhOCOTO) <fhO<O~cOOJGie.JgOJ<fhuil 63'9l@<fhCOJ1,~ 6301, 2)2e.JcfuGiLS06TDlcfu ~nJ<fh(I) 

6TDOJJo nJ0'1cfu'l::JOnDO~lm3 ~nJGiCDJO(l)lcOOO® nJOSl~. 

Answer all questions from 1 to 9. Each question carries 1 score. 

(l illJ@~ 9 ru6l@@Jfil! <>m~p G.!Ll:>BJ,6/ffi(J3.oodo ~Clll1ll@6lillY'J@J®· 1 (n)G<fu:>ro ru1@o) 

Give the economic term for the following. 

1. The fraction of deposits that commercial banks 

must keep with RBI. 

2. The monetary policy instrument used by RBI to 

keep the stock of high powered money 

unchanged from external shocks. 

3. The point at which Price = Shortrun Average 

Cost is called .......... 

4. The investment made by govt. irrespective of 

the level of income is called ..... 

CID :J6l w 6l db :1 s Jam» 1 ~J ~ ~ ru mi dl6l am m Jc:: ID):J ~ ~ 

III:) (ll) (l\) :JffiJcmID 1 db o .. JCl o o(j) !l'J CID J db. 

1. QJC)6ml~~6llJC)ffi>;\c6,<'.J3, ~cm)~® olcrumru 

6Tl.l C) ffi> 7 m3 (T\) l c:6,9::fl -~,,p (?) 7 I] d:36) 611s m 7 a: c&llfo.J 

«m))7@1 (SC)(J)Q, 

2. 6Tl.lC)n.0~ ~nQJC)@6?IDu304e.io @@n.On.JG!QJ©C\.D 

n.J6m«m))l@1 CTml@OJ7m3 00qo ru00@7©7d3616 
cm@lm0CQJl RBI cruJ°lc0,07d3616cm n.J6mffiCQJ g2n.J 

c6,©6mo. 

3. rule.i = LnDcruJc0,0e.i 00000007 @.2.Je.JOJ nq)cm 

6Tl.llm6rul@m ........... nq)cm6 ru7@7d3616cm6. 
4. ru0600m0m6cru~<m0~p@@ mru. ms«m))6cm 

0 6 e.i wm m 7 a: c0:tl::l nJ 0 0 6Tl) ...... 
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5. 

6. 

"An individual producer under perfect 
competition cannot influence the market price". 
Which feature of perfect competition is 
mentioned in the statement. 

Which one of the following is true regarding 
autonomous consumption. 

a) At zero level ofincome consumption is 
negative 

b) At zero level of income consumption is 
positive 

c) At zero level of income consumption is 
zero 

d) None of the above 

7. Which one of the following factors will lead to 
a rise in the price of commodity in the market. 

a) The price ofits substitute falls 

b) The price ofits complementary rises 

c) The demand for the commodity falls 

d) The supply of the commodity falls 

8. A seller under perfect competition sells 10 units 
of a commodity at Rs. IO each. Calculate MR 
when he sells 11 th unit. 

9. The income of an economy increases by Rs. 
120 crores as a result of an increase in govt. 
autonomous expenditure by Rs. 40 crores. 
Find out output multiplier. 

10. Match Column R with A. (l score each) 
B A 

a. Revenue receipts Construction of road by 

government 

b. Capital receipts Salary of govt. employees 

C. Revenue expenditure Sale of shares of public sector 

undertaking 

d. Capital expenditure Goods and service tax (GST) 
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5. " cru cru 6 cB 6m c6, 1 S l2HOTU © c6, G CTlJ O § <mm 1 co3 

ClJ~c0®1(1)@ 228Jn.JOBc6,CD c6,GCT1JO§ ClllB.J@CQJ 

cruwm"lmlc0@0® ce,<91CQJ1~." gQ'D Ln.Jcru@o 

rum cru cru6 cB 6™ ce, 1 s 0 coru m ce, c; cru o § cmml@o'A 

n{J3 co'5 Ln.J c;@ ~ ce,@ CQJ 06TlJ cru 6 .!l.Jl ;tjl c0@ 6 cm co'5. 
6. 63 0 G § 0 6m l2l cru 22 nJ Gis O (I) CllJ l2l O CQJl 6fl.l m.D @;tj § 

(0)06)'9 n.JOCQJ6cmruCQJ1co3 CR>©lCQJOCQJ Ln.Jcru@O 

rum n{j)'96@ 6ce,. 

a) rum60omo n.J6~~0oce,6c;cruou8 

~n.JG@O(l)o 6)ffi(l)<;?"lCll06TlJ 

b) Cll©Jl2l0ffio n.J6~~12l0c6,JGCT1JO<.J3 

22n.JG@O(l)o Gn.Jocrulg"lruo6TlJ 

c) rum60omo n.J6~~0oce,6c;cruou8 

22n.JG@0(1)o n.J6~~12l06TlJ. 

d) gQClJCQJ1co3 63cmJl2l~,-

7. (0)06)'9 @c6,0S6<mm1©1c0@6cmruCQJ1co3 n{B@ ne.JS 

ce,006m 63©6 cruommcmml@o'A ru1B.JCQJ1co3 rucBcw 
m rul m c6, 0(() 6Tl) 12) oce, 6 cm co'5. 
a) Ln.J @1 cru_o o nJ m ru cru@ 6 rul@o'A rul B.J CQJl co3 

226TTsOc6,6cm ce,6oru 
b) n.J6 mce, ru cru@ 6 rul@o'A rul B.JCQJl B..16 6TTsoce, 6 cm 

ru cB cw m ru 
C) c6,GCT1JO§<mmlco3 ~ Cllcru@6Clll@o'A G.!l.JOB 

m<mm1B.JJ611s0c6,Jcm ce,6oru 
d) c6,GCT1JO§<mmlco3 ~ ClJcru@6ClJ1@o'A ln.JBO 

m<mm1B.JJ611s0c6,Jcm ce,6oru. 
8. nJ 6 © 6m ce, 1 s 0 coru m cmml co3 63 m 6 rul co3 nJ m c0@ o 

mcm 10 CQJ6 6mlg' 22co8;t1cmo 10 m6n.J mlmc0@1co3 
rulco3c0@6 cm 6. 11-00@cmm CQJ6 6mlg' rulco3c0@6 
c; cru o u3 B..11sl c0@ 6 cm cru "l 0 OCTO) rum 6 0 om o ce,@ 6TTs 

<mmJcB,. 
9. (l)ClJGrm@l2l~ 630G§06ml2lcru @.!l.JB.JOJ 40 c;ce,osl 

ru cB cwl ~ c; ;ti o u3 63 m 6 cru cru B ru ~ ru cru_o CQJl@B.J 
Cll©Jl2lOmo 120 Gc6,0S1CQJOCQJ1 ClJ©CW1~J6)Cllffi>lco3, 
22 co3;t1cm (1)6 6mc6,o cB,@6TTs<mm 6ce,. 

10. Gc6,0§o 'n{j)' Gc6,0§o '6illl' CQJJl2lOCQJ1 G.!l.J©Jo 

n.JSl G.!l.J0c06)Jc6,. ( 630G©Ocmlm6o 1 cruc;ce,00 

ru"l@o) 

B A 

a. OOJffiJJ OJ@OJ0 G)OJ6fl06l'doi)l6lojl ~O:JC\lJ0 m7corn:J6TDo 

b. 'dJe.JWm OJ@OJ0 co OJ 6llO 6l i;i ojl' @1 OJ m c00 :i co c00 ;i ~ ~ Uo CTlJ ~ o 

C. orumJJ @_g_Je.JOJ0 6l nJ :i (0) ;i ~ 'd 6lJ e.i :i ffilD :i nJ m 6llll 

~66lS 63:JnD@l OJlroocrJm 

d. 'dJe.JWm 6) _g_Je.JOJ" _g_j@c06J6 ~CTUrum ml.e,6(0)7 (GST) 
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Answer all questions from 11 to 15. Each question carries 2 score. 

(11 ID~a»mS 15 rulil©(l})~~ "liliP c:_,._i:JBJ,6?mC/3d}6)~o ~arn»©lillll'!>~a»~«fu. 2 mfo.a,:10 ru°la»o) 

11. Categorize the following under public goods 
and private goods. 

Light house, car, clothe, national defence. 

12. In the long run, a firm under perfect competition 
cannot earn abnormal profit. State the reason. 

13. State any two factors that cause a left ward shift 
of supply curve of a firm. 

14. Prove that the balanced budget multiplier is 
always equal to one. 

15. Issue of currency (High powered money) worth 

Rs. 2000 cores by RBI leads to an increase in 

the money supply by Rs. 8,000 cores. 

Define money multiplier and find out the value 
ofit from the above statement. 

1 1 . @ o@ '9 @cfh o s 6 cmm 1 m 1 c06> 6 cm OJ @ CilJ @n.J o@ 6 
OJ cru@6 c06) ®, cruJcfhom l OJ cru@6 c06) ® n© cm 
@mo @1m1c06>6cfh. 
@@eig n.00:>cru, cfhCJdl, OJcruL@o, ~B(R)1CilJ 
l n.J ill) 1 ~ m C) U) 0 

12. n.Jldl6™ c0,ls0mrum cfh~m.JCJ§cmml@ei ~e':in.Jo 

13. 

14. 

15. 

Bcfh CilJ l 6m1 g1 en BI dlC1..eJcfhCJ ei~cmmc66) (ID()cn)CJ 
womsm eioeso ~msoo3 cfh'91CilJ1~. c0,omsmo 
n{j)'9J@Jcfh. 
63m6 ~e':in.JCJBcfh CilJlsm1g1@~ Ln.JBCJm OJLcfho 
@S~cmmCJ§ 0006cm@1m6 c0,omsm0oc0,6cm 
m ~ C1..eJ s c0, 67ffi u3 Ln.J m5 @CJ OJ1 c06> 6 c0,. 

6llJCJeJCT3crucw 6lll~g' (l)J6mcfho n©~;½:JC><9Jo 
, 63 cm' ~ CilJ7 m 1 c06) 6 @0 cm 6) ill) §1 CilJ7 c06) 6 cfh. 
2,000/- ~cfhCJS1 mln.JCilJJ@S cfhO®cru1 (@@n.O 
n.J ~OJ di cw 0sm1) RB I <ID1)51 -~,,jl Oc06>1 CilJ @1@~ 
n..o ei 0 CJ CilJ1 cru m.J B C1..eJ s m CilJ1 m3 n.J sm l n.J B CJ 
mcmm1@~ (ID()§OJ 8,000 /- ~c0,os1CilJCJCilJ1 
OJdlcw1~6. 
n.J sm (I) 6 sm cfho ml di OJ .c1..fl ~ ~ IZlmilln.J cru@CJ OJ 
m CilJ1 m3 ml cm 6 o (ID() @1@ ~ IZll eil o c0,@ 6lls 

cmm6c0,. 

Answer any five of the foloowing questions. Each question carries 3 score. 

( n(il 6l a» Ill, 1 eJ~ o ffil3 6lIDJ C: _,._i :J BJ, 6?m CJ3 .a6l ~ am» (1) 6l ID I!>~ a»~ «fu. 3 (ll) C: «fu :J@ ru°I a» o) 

16. Classify the following under stabilization, and 
allocation functions of the government. 

a) Rs. 10,000 for railway electrification 

b) Change in banking polices to address 
. . 
issues on recession 

c) Increase in direct tax rates. 

d) Plan Expenditure for education 

e) Increase in defence expenditure. 

f) Economic package to enhance aggregate 

demand. 

16. (?J)CJ6)'9 @cfhCJSJcmml§J§§OJ@CilJ (l)OJGrm@IZlqp 

@~ @?J,?6lll1@@ei~crudl::lo3, (ID()~eJCJ~c06>dl1® 

n© cm I w di 12l2l 67ffi § 1 ei o CilJ1 @mo @1 m 1 c06> 6 c0,. 

a) 10,000 mln.J @OCilJ1m3@0J @@OJBlJ@°l 
c0,msm cmm1 en 

b) cruo ffiJ cmm1 cfh IZlCJ CB l ln.J CJ5 m 67ffi <J3 n.J ml 

n.0 ml c06> 6 cm@1 m J§§ 6llJ o ffi> 1 o ci5 m CilJ 

Ill C) g 67ffi u3 

c) Ln.J@lc:6:ilimlc0,6@1 m1mc06>1ei6§§ 

OJdlcwmru 

d) OJ1BlCJ@locrucmm1m6~ n.J®@1 @.!l..leJOJ 

e) Ln.J@1~mow @.!l..leJOJ1ei6§§ OJdlcwmo1 

f) (ID() l (I)~ (I) g cw 10 o OR OJ di cw 1 ;½:11 c06) o 

m 6~ cruo m.J cmm1 c0, n.J o ~c06> ~. 
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17. a) Define price elasticity of supply. 

b) Identify the elastic and unitary elastic 

supply curves from the given diagram 

A 

B 

1 7. a) Ln.J8e>mcmm16)~ rul~ ~~cim5@1o3,an 

m1<3qiru1c96JJo3,. 

C 

b) 6)o3,CJS;i,cmm13;i,~~ (U)(I}JLCDcmmlmll ~~Cl 

m5anlo3, Ln.J8e>mo (I}Jl6rnlgo1 ~~Cl 

<;Qlldh Ln.J8e>mo n{j)CTnlru @101'2f)1CDJ6o3,_ 
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o----~-----
Qu~tity Supplied 

18. Diagram shows equilibrium income and output 

in a two sector economy. 

Diagrammatically explain the effect of an 

increased autonomous investment on 

equilibrium income and output. 

y 

AD 

0 y 

19. Complete the chart. 

Narrow money Ml= . (a) +. _(lJ) 

M2=Ml + ... (c) ... 

.... .@ .... M3= . .. _(eL .+ Nettime deposits of 

commercial banks 

M4=M3 + .... ..<1) ..... 

20. In a market with free entry and exit, the 

demand function is qD = 700 -P and supply 

function is qs = 500 + 3P. Find equilibrium price 

and quantity. 

21. lllustrate any 3 features of a market economy. 

18. 630;! 8JlG;06lJ~Cl 01.)mJB OJ~OJCTUOCDJ16)~ 

01.lCTl.))6~1@ ru060cimru60 ~e:in.Jcmru;i,o (U)(I}J 

LCDcmmlmll 6)o3,CJSJcmm101c96l;l,(Tl);l,. 

y 

63 cia; 3cia;6rn ci0m5 ml G;c0-,'}j n.Jcmml ~:i. 611se>ru6 cm 

rumrwmru 01.lffil)J~l@ ru0;i,0cimcmml~;i,o 

~ e1 nJ cm cmml ~:i. o ~611se>c96l 6 cm 0cig o (U)(I}J 

L cncmml 6) aj 01.l nD ci (DJ cmm ci ml\ rul uo <3"lo3,01 

c96lJo3,. 

AO= C + I + cY 

Income x 

19. IIDCJ6)<f' 6)c6:,CJS6cmml36@@ .!l.JC)0~ n.Jl0C?YrmlallCJ 
c06) ;i,c0:, • 

[ll)lll,J.oJ1rmnJ6TDo Ml = .. (a). .. + ... (b)._ 
M2=Ml + .. (c) ... 

@ .. M.1= . . _(eL.+ ruJ6TD1"sJ 6llJm6.e,g3l6le.J 

«llilQ8Je.JJOJW1 m7~13!lJnJ6D1J(fO 

M4=M3 + ..... m .. 

20. «!1q)(l)i2lffi m10(1)0ffi CTUJCJIIDL(T())i2lJ@@ 6306 
c0:, a; CTlJ CJ@ cmm 1 @~ a; .!lJ CJ B m w <3 llr2l o 
qD = 700- P all Jo Ln.JBCJITTW01lr2lo qs = 500 + 
3 P <B1Q) c0:, 6 <m 6. cru CT()) 6 .!1.Jl lID o.fl ~ all 6 o cru CT()) 6 
~llID n.J<Dl i2)C)6TT)Q.J6 0 c6:,6)6TlsC?Jm)6c6:,· 

2 1. c0:, a; CTlJ CJ@ cru CTlJ B ru ,1 ru mill alll @ ~ n43@ 1ID 

83, 1 ~ 6 0 3 l nJ ();CO)~ c6:, CO) c6:, cm rul QJ (() 1 c06) 6 c6:,. 
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Answer any four of the following questions. Each question carries 4 score. 

( n(B6>@BblE! .. i;io m:J~ C:.!l.1:JC3~67IBcJ3cOO 2!COlIDCll6>1D<r6@ 6ca,, 4 m:ic:ca,:J@ ru'l@o) 

22. From the following budget data calculate 

a) Revenue deficit 
b) Fiscal deficit 

Item 
Capital receipts excluding 
borrowing 

Revenue expenditure 
Interest payments 
Revenue receipts 

Capital expenditure 

23. Observe the diagram given. 

Amount 

130 crores 

100 crores 
10 crores 
60 crores 

110 crores 

a) What does the point 'A' in the figure 
represent. 

b) What is the significance of r max. 
c) Elucidate the relationship between rate of 

interest and bond price. 

Rate of interest 

r max 

22. <me>@ <9 @c0, e>s ;i arrml 36 §§ 6TlJCW ~ g B arrm 6?n3 
§1m8 m1<m6o 
a) orum,14 @cwn.01cru1g 
b) n.0lcruc00m8 @cwn.01cru1g 
n© <ml ru c0,@ 6l1s arrm 6 c0, 

gymo ®lclh 

c0,So OJC>6?n3m8 63<91@c0,<DJ;\~ 
i2l6eJCDffiQJ00J 130 a;c0,0s1 

orum,14 @.!l..le.JOJ 100 a:c0,0s1 
n.Je.J1U1l CIDclSOJ 10 Q:c0,C>S1 

orum,16 ru0ru 60 a:c0,0s1 
i2l6eJCDm @.!l..le.JQJ 110 Q:c0,C>S1 

23. CW<DJLCDo m101c::M1lc00;ic0,. 

a) CW<DJLCDartm1m8 G:n.JC><DJ11 'A' cru6.!l..l1\½::J1 
cOO ;i (TT)6)(ID(m)? 

b) r max@~ Ln.JC>CDe>m,10 n4)<9;J<m;ic0,. 
c) n.Je.J1U1lm10c00;io G:6TlJC>6lls1@~ ru1e.i<DJ6o 

<IDl2l2l1 e.i;i §§ 6TlJ (TU) 0 Ol,1 cOO)) i2)C) cOO 6 c0,_ 

rmin -----~~ ----

0 '-------------
Speculative demand for money 

24. Observe the diagram. 24. 
MC 

Cost/ Revenue 

p 

0 ------~q----

a) In the diagram identify the short run 

supply curve of a firm under perfect 
competition 

b) State any three factors determining supply 
of the firm. 

Quantity 

a) cw <DJ Len arrm 1 m8 cru m.J l c3 6™ c0, 1 s i2l mru 0 
cB,Q:m.JC>§artml@e.i LnDCTUJcB,C)eJ Ln.JBC>m 
ru L c0, o c0,@ 6l1s arrm 6 c0,. 

b) Ln.JBe>m@arrm m1c35™<DJlc006<m n{B@<ID 
ffi>1e.J6o i2l6<m6 n.e.JSc0,6?n3® n4)<9:J<ID;Jc0,. 
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25. a) Distinguish between marginal propensity 
to consume and marginal propensity to 
save (MPC and MPS) . 

b) Complete the following consumption 

schedule given that c = 100, MPC = 0. 6 

1111111111111111 IIII 

25. a) cru"l00am ~n.J~tse>(J) Ln.JOJ6m@CQJ6o, 

cru "l 0 e> am cru CT1J 08 l l nJ OJ 6m@ CQJ 6 o 

~QJa\@lml~OlCQJJcfu. 

b) c= 100, MPC = 0.6 CTlTQ)@6mEB,lm3 ~n.J 

~(s C)(J) nJ 3lcfu n.Jl @aml)lcfu©lcB6l6 cfu. 

Level ofincome (Y) Consumption (C) 
0 

500 

1000 

1500 

2000 

26. 'GDP is generally considered as the index of 
welfare of people'. However this generalization 
may not be always true. Give any two reasons 
to support your answer. 

26. ~m~c0:&1i2l CTUl.!:l...lcfui2l0CQJ1 @n.Je>@6GOJ GDP 
6) CQJ cfu 6m cB6l C) cB6l 6) S½:J S 6 (TT) 6 · n{j) (TT) C) m3 @2 'D 

cru e> i2l 0 ml OJ m3cB6l m 6m o nm 'i?d e> CQJl ~ S½:l e> g:,6 o 

cm m 1 CQJ 0 c0, 6m @ 0 (TT) 1 'i?d. m 16?IB § 6 @s ru 0 G 

6?ffi@§ (TUC)(.l)l cfu©l cB6) 6 (TT) 06r@ cfuC)06m6?ffiu3 

QJ l cOO)) 0C)cB6) 6 cfu. 

Answer any two of the following questions. Each question carries 5 score. 
( aj) 6l a» 11h 10 Jo Cl> (ilR G .!>..I :J C3 l 6m <JS cf}6) ~ am» Cl> 6l rII Y' J a» J cfh. 5 CTU G cfh :J © o.J'l a» o) 

2 7. A consumer attains maximum satisfaction at the 
point of optimum choice (Consumers 
equilibrium). State the condition and 

diagrammatically explain how optimum choice 
of a consumer is determined. 

28. Total quantity of fish supplied in the market is 
affected as a result of the announcement of 
trawling ban during the months ofJune, July by 
the government. Graphically illustrate its effect 
on equilibrium price and quantity offish bought 
and sold during this season. 

2 7. ~ nJ ~<s e>ce® ~ cru am 6 efl@e> OJ cru_o CQJ1 m3 63 m 6 
~n.J~/sC)ce®C)OJ n.J0i2lC)OJ(.l)1 CTUo(O)~nJ@1CQJ1m3 

n© aml)l~.!:l...lm 6 (TT) 6. cruam 6 efl@e>OJ cru_o n{j)aml)l 

~.!:l...l©6(TT)@lm6§§ OJlrucru_o nmg:,6@ 6cfu? 

cw CQJ l CJ) aml)l@o'A cru n.0 e> CQJ ~ mm) e>@ s ~ nJ ~<s e> 

ce® ~ cru am 6 e.n @e> OJ cru_o rul OJ ml cB6l 6 c0,. 

28. ~J6fm, ~J@@e.J 0C)CTU6?ffi§lm3 (J)QJ6fm6)0~ 

l nJ ru l 0 n.Jl cB6) J (TT) CTlTQ) g:, cB6) 5 m3 ° emu l 6ru mD 

mml~me>wmo, cfu~ffiJC>§aml)lm3 0mrul 

aml)l@o'A ln.JG C) m @mm) 6ru C>Wl cB6l 6 (TT) 6 · @2@ 

i2lam)laml)1@o'A cruam6e.i1@ OJ1e.JCQJ1e.J6o, 

cruam 6 e.il@ nJ ml 006m aml)l e.i6 o ~ 6TTsC>cB6l 6 (TT) 

i2l e> go cw CQJ l CJ) aml)l@o'A cru n.0 e> CQJ mm) e> m3 

OJ1CJll(312)C)cB6)Jcfu. 
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29. The price of paddy determined by the market 
and the price fixed by the government to protect 
paddy producers are given in the diagram. 

Price 

0 

a) Name the governmental intervention 
programme at price P I shown in the 
diagram. 

b) What is its effect on supply? 

c) Explain such government intervention 
programme to help consumers. 

(Hint:- Name of programme, its effect on 
demand , its consequences) 

29. @m~1@CTR c0,ci;CT1Ja§o.fleiCQJ60, @m~6m8<;½:JC>B 
c0,@ a> cru n.o a CQJ1 c66) am a CQJ1 (/)OJ 6113@0 ~ 
m1(/Q}J CQJ1 ~ ru1 e.JCQJ 6 o cw CQJ L(l)<mm1 m8 @c0,a s 6 
cmm1 a>1 c66) 6 cm 6. 

s 

D 

Quantity demanded 

and supplied 

a) cw CQJ l (I) cmm1 m8 P I ru1 ei CQJ1 m8 c0, a 6ml 
c66)6cm (l)OJ6113@0~ ~s@n.Jsm8 ms 
n.Js1 (ID()01CQJ@<;½:js6cm ci;n.Jm na)CTID? 

b) ~ 0'.> ru1 ei Ln.J Ba m cmm1 m8 n© mn n..0 ei 
0 asm ~ 6T1s a c66) 6 cm@? 

c) g2 nJ ci;es c,cOO)) c,c66) @§ cru n.oc,CQJ1c66) 6 cm cm1 
maCQJ1 (l)OJ6113@12l~ @<mma>cmm1m8 ms 
cmm6cm ~S@n.JSm8 OJ10J©1c66)6c0,, 

(crul.!l..lm: ci;n.Jm, G;.!l..lC>Bmcmm1ei66l13C>c66)6cm 
n..0 ei o, (ID() mama> n..0 ei 6ID3 u3) 

Answer any two of the following questions. Each question carries 8 score. 

30. 

(Cl(il6l@llh10~o a,~ C:.!>..l:JC3lo?mc,5cf}6) ~arn»Cl>6l1DW~@~cfu. 8 CTUC:cfu:>c:5 ru'l@o) 

"RBI purchases ( or sells) govt. securities from 
the general public in a bid to increase ( or 
decrease) the stock of high powered money in 
the economy". 

a) Identify the monetary policy instrument 
mentioned in the statement. 

b) List out any other two monetary policy 
instruments used by RBI 

c) Explain how the inflationary pressures can 
be controlled by using the above three 
monetary policy instruments. 

30. "@@ n.o nJ ci; ru ct1 cw nJ 6m cmm1@CTR ci; cm ru (() o 

ructlcw1 <;½:j1c66)6 ruamc,CQJ1 ( c0,6 Oc66)6 ruamc,CQJ1) 
RBI (l)OJ6113@12l~ @cruc0,1l a>1g7c0,CJ3 @n.Jacm6 
ru1n.J6m1CQJ1m8 m1cm6o OJC>6ID36cm6. 
( ru1m8c66)6 cm6)" 

a) Ln.JcrucmarumCQJ1m8 crul.!l..11<;½:J1~ n.J6m 
m CQJ g2 nJ c0, a> 6m o cm1 a>1 ~ o1 CQJ 6 c0,. 

b) RBI ~n.Jci;CQJc,(1)7c66)6cm 0g a>6ll3 
nJ 6m mCQJ ~ nJ c6,(() 6m 6ffi3(Jl) ei1 ~ 
6).!l..l~Jc6,. 

c) n.J6m@n.Ja>6<;½:j@<mm m1CQJLCTm1c66)6cmcm1 
mc,CQJ1 12lJc6,§1m8 CTUl.!l..11<;½:j1c66)6 cm IZll cm 
0 a ctl C& 6ID3 u3 n© 6ID3@m ~ nJ ci; CQJ a (1)1 
c66)6cm6 na)@ OJ1CR>Bl2lC>c66)Jc6,. 
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31. Observe the diagram. 

Cost/ 

Revenue 

p 

0 q 

a) Name the market structure shown in the 

diagram and state its features. 

b) What are the short run profit maximising 

conditions of a firm in such a market. 

c) Diagrammatically illustrate the long run 

equilibrium of a firm in such a market. 

32. a) Write down the steps of measuring 

national income by using Value Added 

Method and Income method. 

b) Calculate NNPFc (National Income) 

from the following data 

Item 

A 

q1 

a. Gross value of outpu 

b. Depreciation 

1111111111111111 IIII 

3 1 . CW CQl l (I) o CT) 1 © I c&&fl ,B6\~ cB,. 

MC 

P=AR= MR 

Quantity 

a) cw CQl l (I) cmm1 m8 c0, CJ6m1 ~1 ©1 c66) 6 an 

c0, a: CT1J CJ§ n.e..1 s m CQl 6@ s a: nJ @ © ~ 6 <m 1 
cru ru1 G: cm rfrl <m c:B, u3 l nJ en) <m CJ ru1 c66) 6 c0,. 

b) @cmm©cmm1e.i6~ c0,a:CT1JCJ§ n.e..1sm 
CQJ1m8 63©6 g2m8n.JCJ8m CQJJ6m7g7m 
ln.OcruJc:B,CJe.Jffi n.J©l2lCJC1JW1 eJCJCso 
a:m s 6 an <ml m 6~ ru ~ ru cru_o c0, u3 
n{j)@CTID ~ CJ o? 

c) @mrm © cmm 1 e.i 6 ~ c0, a: CT1J CJ§ n.e..1 s m 
CQJ1m8 63©J g2m8~CJ(3CT) CQJJ6m1g1@1 
81 c3 n.e.Jc:B,CJ e.i, (f\)(m) 6 e.i1 ((J)CJQJ cru_o CWCQJ 

l (f)cmm1@1 cru n.OCJ CQl cmm CJ m8 ru ~ cOO)) 12lCJ 
c66)}c9,. 

32. a) c0,J 31a:~dlcmm 12lJeJ~©"l<m1, ru©60CJm 

©"l<m1 n{f)an1ruCQJ1e.iJ@S a:Gcm"lCQJ ru©6 
0 CJ mo c0, 6m c66) CJc66) 6 an <ml m 6 §§ n.e..1 § 

6ID3u3 n{j)~J<mJc:B,. 

b) mm8c0, 1CQJ1 36~ Gcmm6ID3§1m8 m1an6o 

NNP Fe ( G:8CR>1CQJC1J©Jl2lCJmo) c:B,CJ6mJc:B,. 

in crores 

800 

50 

c. Intermediate consumption 200 

d. Net indirect tax 40 

e. Net factor income from abroad 100 
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Qn. 
No. 

1 

2 

3 

4 

5 

6 

7 

8 
9 

10 

11 

12 

13 

14 

15 

16 

17 

18 

Second Terminal Examination SET-1 

Economics 
Answer Key 

(Second Year) 

Scoring Key 

Cash Reserve Ratio (CRR) 

Sterilization 

Break Even Point 

Autonomous Investment 

Firm is a price taker/price taker/Infinite number of sellers 

b. At zero level of income consumption is positive 

d. The supply of the commodity falls 

MR=lO 
Output multiplier = 3 

a. Goods and Service tax (GST) 
b. Sales of shares of public sector undertakings 
C. Salary of government employees 
d. Construction of road by government 

Public goods ~ Light house, National defence 
Private goods ~ car, clothes 

State and explain the reason 

Identify any 2 factors that cause a leftward shift in supply 
curve (1 x 2) 

- A rise in input price 
- A rise in unit tax 
- Outdated technology 

For mentioning tax multiplier 
Mentioning expenditure multiplier 
Process to reach balanced budget multiplier 

Defining money multiplier 

Calculation ~ = 4 

For each correct classification 
Stabilization : b, f, d 
Allocation : a, e, c 
For the correct definition of price elasticity of supply( If 
correct formula is given, give 1 score) 
For identifying 'A' elastic 
For identifying 'B' unitary elastic 
For a correct diagram - showing an upward shift in the AD 
For marking the new equilibrium point and level of output 

1 

Marks Total 
Score 

1 1 
1 1 
1 1 
1 1 
1 1 
1 1 
1 1 
1 1 
1 1 
1 1 
1 1 
1 1 
1 1 

½+½ 
½+½ 

2 

2 2 

1 
1 2 

½ 
½ 2 
1 

1 
1 2 

½x6 
3 

2 
½ 3 
½ 

1 
1 



Brief explanation 1 
If only correct diagram 
Only correct explanation 

19 a. cu ½x6 
b. DD 
C. Post office savings deposit 
d. Broad money 
e. M1 
f. Total deposit in post office 

20 Finding market price. Solving the equation 2 
Substituting the market price in demand or supply function 1 3 
and finding equilibrium quantity 
Market price - 50 , equilibrium quantity- 650 

21 Mention any 3 features lx3 3 
22 For calculating Revenue deficit (If only formula - 1 score) 2 

For calculating Fiscal deficit (If only formula - 1 score) 2 
4 

23 a. Liquidity trap 
b. r max shows the maximum rate of interest that is 1 

expected by people. At this rate the demand for 1 4 
money is zero 

2 
C. For explaining relation between rate of interest and 

bond price. 
24 a. For identifying short run supply curve 1 4 

b. Any three factors that influence supply curve 3 

25 For distinguishing MPC & MPS 1 
Correct schedule 3 4 
If only formula c= c + c.y (½ score) 

26 Explanation of 2 points why GDP cannot be considered as 2x2 
a welfare index 
If only mentioning the points (1 x 2) 

27 Condition for consumer equilibrium 
- Slope of budget line = slope of IC or 

l 
1 

p 
- _ ___l_ =MRS or 1 score 

p2 
Tangency between budget line and IC 5 

For correct diagram and marking consumer equilibrium 2 
For explanation 

2 

28 For drawing the diagram showing equilibrium of fish market 1 
Showing leftward shift in supply curve 1 
Marking new price and quantity 1 
Explanation of, why supply shifts left and what happens 

2 
to price and quantity 

29 a. Minimum Price I floor price 1 
b. Excess supply 1 5 
C. Explanation of maximum price, price ceiling, its 1+1+1 

effects and consequences 

2 



30 a. Open market operation 
b. Changing the bank rate varying the reserve 

requirement 
Explaining how each policy can be used to control the 
inflation 
The mechanism by which the policy instruments leads to a 
reduction in the inflation - open market operations - selling 
up of securities - money supply in the economy falls -
demand falls - price level falls. 

31 Perfect competition 
Features explaining any two 
Or mentioning any four (½ x 4 = 2) 
Conditions---
Diagrammatic explanation 

32 i) Steps - Value added method 
Income method 

ii) (a) - (c) - (b) - (d)+(e) - 610 crores 

3 

1 
½ 

½ 

2x3 

1 
2 

lx3 

2 

3 

3 

2 

8 

8 

8 




